

abu. 1 } (8)

$$f'(x) = \frac{5}{3x \cdot (\ln x + 2)}, \quad x > e^{-2}, \quad f(1/e) = 1$$

$$f'(x) = \frac{5}{3} (\ln x)' \cdot \frac{1}{\ln x + 2} \Leftrightarrow$$

$$f'(x) = \frac{5}{3} \cdot \frac{(\ln x + 2)'}{\ln x + 2}$$

$$\ln x + 2 > 0 \Leftrightarrow \ln x > -2 \\ \Leftrightarrow x > e^{-2}$$

$$f'(x) = \frac{5}{3} \cdot \left[\ln(\ln x + 2) \right]'$$

$$f(x) = \frac{5}{3} \ln(\ln x + 2) + c.$$

$$(8) f'(x) = 84x - 64 \frac{x}{2}, \quad x \in (0, 1/2) \quad f(1/3) = -3 \ln 3$$

$$84x = \frac{u+x}{\ln x} = - \frac{(\ln x)'}{\ln x} = - (\ln |\ln x|)'$$

$$64x = \frac{\ln x}{-x} = \frac{(\ln x)'}{-x} = (\ln |x|)'$$

$$64 \frac{x}{2} = (2 \cdot \ln |x|)'$$

$$(6c) f'(x) = \frac{1}{e^x + 1} \quad x \in \mathbb{R} \quad f(0) = 1$$

$$f'(x) = \frac{e^x + 1 - e^x}{e^{x+1}} = \frac{e^x + 1}{e^{x+1}} - \frac{e^x}{e^{x+1}} = 1 - \frac{(e^x + 1)'}{e^{x+1}}$$

$$f'(x) = \frac{1}{e^x + 1} = \frac{e^{-x}}{1 + e^{-x}} = - \frac{(e^{-x})'}{1 + e^{-x}} = - \frac{(1 + e^{-x})'}{1 + e^{-x}}$$

$$j) f'(x) = \frac{1}{x^2 + x} = \frac{1}{x \cdot (x+1)} = \frac{a}{x} + \frac{b}{x+1}$$

au. 2

$$a) f(x) = \frac{1}{\sqrt{x+1} - \sqrt{x}}$$

$$f(x) = \frac{\sqrt{x+1} + \sqrt{x}}{x+1 - x} \quad (=)$$

$$f(x) = \sqrt{x+1} + \sqrt{x}$$

$$= (x+1)^{1/2} + x^{1/2}$$

$$= \left[\frac{2}{3} (x+1)^{3/2} + \frac{2}{3} x^{3/2} \right]'$$

Antwort: $\frac{2}{3} \sqrt{(x+1)^3} + \frac{2}{3} \sqrt{x^3} + C$

$x \in [0, +\infty)$

$x \geq 0$, $x+1 \geq 0$

$$\sqrt{x+1} - \sqrt{x} \neq 0 \Leftrightarrow$$

$$\sqrt{x+1} \neq \sqrt{x} \Leftrightarrow 1 \neq 0$$

$$[0, +\infty)$$

$$\sqrt{x} = x^{1/2} \rightarrow \frac{2}{3} x^{3/2}$$

$$\sqrt{f(x) \cdot f'(x)} = \frac{2}{3} (f(x))^{3/2}$$

$$f(x) = \frac{x}{\sqrt{x^2+1} + \sqrt{x^2+2}}, \quad x \in \mathbb{R}$$

$$= \frac{x \cdot (\sqrt{x^2+1} - \sqrt{x^2+2})}{x^2+1 - x^2-2} =$$

$$= \frac{x \cdot \sqrt{x^2+2} - x \cdot \sqrt{x^2+1}}{x^2+1 - x^2-2}$$

$$= \frac{1}{2} (x^2+2) \sqrt{x^2+2} - \frac{1}{2} (x^2+1) \sqrt{x^2+1}$$

$$= \frac{1}{2} \cdot \frac{2}{3} \left[(x^2+2)^{3/2} \right] - \frac{1}{2} \cdot \frac{2}{3} \left[(x^2+1)^{3/2} \right]$$

$$a) \int \frac{e^{3x} + 1}{e^x + 1} dx = \int \frac{e^{3x} + 1}{e^x \cdot (e^x + 1)} \cdot e^x dx = \int \frac{u^3 + 1}{u^2 + u} du =$$

$$x \in \mathbb{R} \quad e^x = u \Rightarrow du = e^x dx$$

$$= \int \frac{(u+1) \cdot (u^2 - u + 1)}{u \cdot (u+1)} du =$$

$$\left. \begin{array}{l} e^{3x} + 0e^{2x} + 0e^x + 1 \\ (e^x)^3 + 1 \end{array} \right| \frac{e^x + 1}{e^x + 1}$$

$$= \int \left(\frac{u^2}{u} - \frac{u}{u} + \frac{1}{u} \right) du = \int \left(u - 1 + \frac{1}{u} \right) du$$

$$= \frac{u^2}{2} - u + \ln|u| = \frac{e^{2x}}{2} - e^x + \ln e^x + C$$

$$(8) \quad \frac{4^x + 1}{2^x + 1} = \frac{(2^x)^2 + 1}{2^x + 1} = \frac{(2^x)^2 + 2 \cdot 2^x + 1 - 2 \cdot 2^x}{2^x + 1} = \frac{(2^x + 1)^2}{2^x + 1} - 2 \frac{2^x}{2^x + 1}$$

$$2^{2x} = (2^x)^2 + 1$$

$$\frac{2^x}{2^x + 1} = \frac{\left(\frac{1}{\ln 2} \cdot 2^x \right)'}{2^x + 1}$$